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Multiplication (Vertical) Name:
Solve each problem. Answers
1 21 2) 30 3) 28 4) 53
x 85 x 70 x 68 x 91 -
2.
3.
4.
5) 93 6) 69 7) 26 8) 39
x 94 x 23 x 37 x 27 >
6.
7.
8.
9 93 10) 70 11) 68 12) 20
9.
X 44 X 37 x 83 X 89
10.
11.
12.
13) 90 14) 98 15) 67 16) 66
13.
X 32 X 65 x 33 X 91
14,
15.
16.
17) 68 18) 52 19) 35 20) 76
17.
x 96 X 31 x 12 X 94
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1) 2) 3) 4)
21 30 28 53 . 1785
x 85 x 70 x 68 X 91
105 2 100 224 53 , 2100
+1,680 +1,680 +4,770
1,785 1,904 4 823 . 1,904
. 4823
5) 6) 7) 8)
93 69 26 39 . 8742
X 94 X 23 x 37 x 27
372 207 182 273 s 1587
+8.370 +1,380 +780 + 780
8 742 1,587 962 1,053 7. 962
8 1,053
9 10 11 12
) 93 ) 70 ) 68 ) 20 . 4,092
X 44 X 37 x 83 X 89
372 490 204 180 o 2590
+3.,720 +2.100 +5,440 +1,600
4.092 2590 5 644 1,780 1. 5,644
12. 1,780
13 14 15 16
) 90 ) 98 ) 67 ) 66 5 2.880
X 32 X 65 x 33 X 91
180 490 201 66 u 6370
+2.700 +5.880 +2,010 +5.940
2880 6.370 2211 6.006 15, 2,211
16. 6,006
17 18 19 20
) 68 ) 52 ) 35 ) 76 o 6528
x 96 x 31 x 12 x 94
408 52 70 304 s 1612
+6,120 + 1,560 +350 + 6,840
6.528 1,612 420 7.144 . 420
20, 7,144

[ M ath ] www.CommonCoreSheets.com

1-10 | 95| 90

85

80

75

70| 65]60|55|50

11-20(45] 40

35

30

25

20115101 5{ 0




	Worksheet
	Answer Key

